Page 1 of 12 RAD0281

FITTING INSTRUCTIONS FOR RAD0281 RADIATOR GUARD
YAMAHA R7 2022~

THIS KIT CONTAINS THE ITEMS PICTURED AND LABELLED OVER PAGE.

SOME PARTS MAY BE SHOWN FOR CLARITY OF INSTRUCTIONS ONLY.
DO NOT PROCEED UNTIL YOU ARE SURE ALL PARTS ARE PRESENT.

PLEASE READ ALL INSTRUCTIONS BEFORE PROCEEDING.

IF IN ANY DOUBT WHEN FITTING OUR PRODUCTS, CONSULT ONE OF OUR DEALERS
OR HAVE FITTED BY A QUALIFIED TECHNICIAN.

PLEASE NOTE THAT THE WAY THE KIT IS PACKED DOES NOT NECESSARILY REPRESENT THE WAY OF

MOUNTING TO THE BIKE.
IN THE EVENT OF RUBBER WASHERS BEING USED TO HOLD COMPONENTS ONTO BOLTS,

THESE RUBBER WASHERS CAN BE THROWN AWAY.

DIGITAL COPIES OF THESE INSTRUCTIONS ARE AVAILABLE FROM:

WWW.RG-RACING.COM

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com



http://www.rg-racing.com/
mailto:info@rg-racing.com

Page 2 of 12 RAD0281

TOOLS REQUIRED GENERAL TORQUE SETTINGS

e SET OF ALLEN KEYS TO INCLUDE 4mm. M4 BOLT = 8Nm

e NEEDLE NOSE PLIERS. M5 BOLT = 12Nm

e CABLE CUTTERS OR SCISSORS.

M6 BOLT = 15Nm

M8 BOLT = 20Nm

M10 BOLT = 40Nm

M12 BOLT = 40Nm

LEGEND
ITEM NO. DESCRIPTION QTY

ITEM 1 RAD0281 LHS RADIATOR GUARD 1
ITEM 2 CT130 RADIATOR CABLE TIE (4-PACK) 2
ITEM 3 100mm SELF-ADHESIVE FOAM 2

o = -

SRS
HRLRRRLRKRRLK

' Fa%e%s: .
B I R g

>
{

>

X 2O OO GOS0 000000000008 <
S B IS
P A 0.0 SO S SO 0.0’0,0,:.:.0,‘ 0.0.:

B 00 TILRRIIEIRLRK
B ERRRLARR

(&
(>
(o
s
{0
%
o
oY

byt
SR
550505
25855
SR
0o
X
osese;
bytete!
55
L5
285
X
et

SRRLLIRLELS
QLIRSS
ORIHRRIRLELIES
LSRR
RIS S8
SRS

X
&
<,
(X
£

X

’:

%
IR
S
KX
.:‘:
K08
Tevet

{
{
58
(>
£

&
S
o
%

{0
£
{2

Selelelels! &
S5 AHHLRS A
IERRLIHRR ateteteted
SRR RRRKA]
o tetetete%e %% pteteleteted
Sededelededed relededed
betetele! bo%e%e%
005 90058,

505
2505
Peled
<5
%
55
5
%
55
5
2L

{ >

{ )
R
65
-
252535
255
XXX
SEEXKLL

%
X

e

0

L

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com



http://www.rg-racing.com/
mailto:info@rg-racing.com

Page 3 of 12 RAD0281

FITTING PICTURES

Picture 1 Picture 2

Picture 5 Picture 6
R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com



http://www.rg-racing.com/
mailto:info@rg-racing.com

Page 4 of 12 RAD0281

FITTING INSTRUCTIONS

e On both sides of the motorcycle, the forward tank fairing must be removed to gain access to the
rear of the radiator. Using a 4mm allen key, remove the bolt shown in picture 1.

e Depress the centre of the pop clips arrowed in pictures 2 and 3.

e Slide the fairing panel forwards and release to gain access to the rear of the radiator as shown in
picture 4.

e Cut the adhesive foam (item 3) provided into 10mm strips and affix onto the rear of the outer
frame of each radiator guard to sit between the guard and the radiator.

e Offer the radiator guard (item 1) into position so the guard sits neatly into the recessed part of the
heater matrix and sits centrally as shown in picture 5.

e Using two of the special radiator guard ties (Item 2), thread one cable tie through the upper slots
on the radiator guard as shown in picture 5, ensuring the flat head of the radiator tie sits against
the radiator guard and the tail goes through the outer matrix hole and to the back of the radiator
matrix as shown in picture 6. Note, ensure the tie does not interfere with the fan on the rear of
the radiator.

e Take one of the radiator guard tie locking pieces and carefully attach to the back of the cable tie tail
ensuring the toothed section engages the teeth of the tie and slide up until it holds the radiator
loosely in place.

e Repeat for the lower slots which can be accessed from below the radiator.

¢ When happy with the position of the radiator guard, fully tighten the radiator cable ties

compressing the foam slightly as shown in picture 6. Do not overtighten as damage to the fins can

occur.

Once secure, trim the excess cable tie from the back of the radiator using a pair of snips.

With cable ties now in place, check the radiator guard is held firmly in place.

Replace both fairing panels and replace all clips and bolts removed previously.

e Check all components are secure and all bolts are tight before riding.

ISSUE 1 - 03/11/2021 (DM)

CONSUMER NOTICE

The catalogue description and any exhibition of samples are only broad indications of the Products and R&G may make design
changes which do not diminish their performance or visual appeal and supplying them in such state shall conform to the order.
The Buyer acknowledges no representation or warranty (other than as to title) has been given or will apply to the Products other
than those in R&G’s order or confirmation and the Buyer confirms it has chosen the Products as being of merchantable quality
and suitable for its particular purposes. Where R&G fits the Products or undertakes other services it shall exercise reasonable
skill and care and rectify any fault free of charge unless the workmanship has been disturbed. The Buyer is responsible for
ensuring that the warranty on the motorcycle is not affected by the fitting of the Products. On return of any defective Products
R&G shall at its option either supply a replacement or refund the purchase money but shall not be liable if the Products have
been modified or used or maintained otherwise than in accordance with R&G’s or manufacturer’s instructions and good
engineering practice or if the defect arises from accident or neglect. Other than identified above and subject to R&G not limiting
its liability for causing death and personal injury, it shall not be liable for indirect or consequential loss and otherwise its liability
shall be limited to the amounts paid by the Buyer for the Products or the fitting or service concerned. These terms do not affect
the Buyer’s statutory rights.

R&G RACING RETURNS POLICY (NON-FAULTY GOODS)
Returns must be pre-authorised (if not pre-authorised the return will be rejected). Goods may only be returned direct to us if
they were purchased direct from us (customer must prove if necessary). Otherwise to be returned to original vendor. Goods
must be in re-sellable condition, in the opinion of R&G Racing. All returns are subject to a 25% restocking and handling fee (25%
of the gross value exc. P&P - at the prevailing price at time of purchase). The customer must pay any and all carriage charges.
No returns of discontinued products, unless within 14 days of purchase. This policy does not affect your statutory rights and does
not refer to faulty goods.

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com



http://www.rg-racing.com/
mailto:info@rg-racing.com

Page 5 of 12 RAD0281

NOTICE DE MONTAGE POUR RADO0281 GRILLE DE RADIATEUR
YAMAHA R7 2022~

CE KIT CONTIENT LES ARTICLES ILLUSTRES ET ETIQUETES SUR LA PAGE.

CERTAINES PARTIES PEUVENT ETRE PRESENTES UNIQUEMENT POUR LA CLARTE DES INSTRUCTIONS.

NE PAS PROCEDER AU MONTAGE TANT QUE VOUS N'ETES PAS SUR QUE TOUTES LES PIECES SOIENT
PRESENTES.
VEUILLEZ LIRE TOUTES LES INSTRUCTIONS AVANT DE CONTINUER.

EN CAS DE DOUTE LORS DU MONTAGE DE NOS PRODUITS, CONSULTEZ UN DE NOS
REVENDEURS OU FAITES APPEL A UN TECHNICIEN QUALIFIE.

VEUILLEZ NOTER QUE LA FACON DONT LE KIT EST EMBALLE NE REPRESENTE PAS NECESSAIREMENT LA

MANIERE DE LE MONTER SUR LA MOTO.

SI DES RONDELLES EN CAOUTCHOUC SONT UTILISEES POUR MAINTENIR LES COMPOSANTS SUR LES

BOULONS, ELLES PEUVENT ETRE JETEES.

NOTICE DISPONIBLE AU TELECHARGEMENT SUR :
WWW.RG-RACING.COM

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com



http://www.rg-racing.com/
mailto:info@rg-racing.com

Page 6 of 12 RAD0281
OUTILS REQUIS VALEURS DE SERRAGE
. CLES\ALLEN 4mm. M4 BOULON = 8Nm
e PINCE A BEC POINTU.
M6 BOULON = 15Nm
M8 BOULON = 20Nm
M10 BOULON = 40Nm
M12 BOULON = 40Nm
LEGENDE
ARTICLE NO. DESCRIPTION QTE

ARTICLE 1 RAD0281 LHS RADIATOR GUARD 1

ARTICLE 2 CT130 RADIATOR CABLE TIE (4-PACK) 2

ARTICLE 3 100mm SELF-ADHESIVE FOAM 2

¢ K

S 0000000

boteleleleletelele% % %%
R ERRARK,
QoA AR ARIR KK IR HHL RS
X X XXX HIHIAIRIRHHLRXK
S0 00 00040000 000000
0 IIRAIIIALIALHKK
P :0.0.0’ <

o

.
S
0‘0-

Z
Q

&5
%%,

&5
%5

&%

& Cotetet0ta %6 ettt %0 %0 02!
SRR
CSSLLSLHLEL

otele

RLHRHLILHRRKRS

pPeleleteleteloletede

SRR A LS
ety

B S A o o
B SIRRLR SRR IS,
R UXHRILRKN QR IRLLRKES
OIS SSRGS

SIS G LSRRI
S
%03 LIRSS
& QR SRR R R IR HHARS
SRR
R R R SRR
e Sa s a e teteta e teteteletetetele%e!
& KX
5K
03058,

&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com



http://www.rg-racing.com/
mailto:info@rg-racing.com

Page 7 of 12 RAD0281

PHOTOS DE MONTAGE

Photo 5 Photo 6
R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com



http://www.rg-racing.com/
mailto:info@rg-racing.com

Page 8 of 12 RAD0281

NOTICE DE MONTAGE

o Des deux c6tés de la moto, le carénage avant du réservoir doit étre retiré pour accéder a l'arriere
du radiateur. A I'aide d'une clé Allen de 4 mm, retirez le boulon indiqué sur la photo 1.

e Appuyez au centre des clips pop fléchés sur les photos 2 et 3.

e Faites glisser le panneau de carénage vers |'avant et relachez pour accéder a l'arriere du radiateur
comme indiqué sur la photo 4.

e Coupez la mousse adhésive (article 3) fournie en bandes de 10 mm et fixez-la a I'arriére du cadre
extérieur de chaque protection radiateur pour se placer entre la protection et le radiateur.

e Présentez-le protége-radiateur (article 1) en position de maniere a ce qu'il repose parfaitement
dans la partie encastrée de la matrice de chauffage et se trouve au centre, comme indiqué sur la
photo 5.

o A l'aide de deux des attaches spéciales de protection de radiateur (article 2), enfilez une attache de
cable dans les fentes supérieures de la protection de radiateur comme indiqué sur la photo 5, en
vous assurant que la téte plate de I'attache de radiateur repose contre la protection de radiateur et
gue la queue passe a travers le trou extérieur de la matrice et a I'arriére de la matrice du radiateur
comme indiqué sur la photo 6. Notez que l'attache n'interfére pas avec le ventilateur a I'arriere du
radiateur.

e Prenez l'une des piéces de verrouillage de I'attache de protection radiateur et fixez-la
soigneusement a l'arriere du support de |'attache de cable en vous assurant que la section dentée
s'engage dans les dents de l'attache et glissez vers le haut jusqu'a ce qu'elle maintienne le
radiateur en place sans serrer.

Répétez I'opération pour les fentes inférieures accessibles depuis le dessous du radiateur.

Lorsque vous étes satisfait de la position de la protection du radiateur, serrez complétement les
serre-cables du radiateur en comprimant |égérement la mousse comme indiqué sur la photo 6. Ne
serrez pas trop car cela pourrait endommager les ailettes.

e Une fois fixé, coupez I'excédent d'attache de céble a I'arriére du radiateur a I'aide d'une paire de

cisailles.

e Une fois les serre-cables en place, vérifiez que la protection du radiateur est bien maintenue en
place.

e Remplacez les deux panneaux de carénage et remplacez tous les clips et boulons retirés
précédemment.

e Vérifiez que tous les composants sont sécurisés et que tous les boulons sont bien serrés avant de
rouler.

ISSUE 1 - 03/11/2021 (DM)

CONSUMER NOTICE

The catalogue description and any exhibition of samples are only broad indications of the Products and R&G may make design
changes which do not diminish their performance or visual appeal and supplying them in such state shall conform to the order.
The Buyer acknowledges no representation or warranty (other than as to title) has been given or will apply to the Products other
than those in R&G’s order or confirmation and the Buyer confirms it has chosen the Products as being of merchantable quality
and suitable for its particular purposes. Where R&G fits the Products or undertakes other services it shall exercise reasonable
skill and care and rectify any fault free of charge unless the workmanship has been disturbed. The Buyer is responsible for
ensuring that the warranty on the motorcycle is not affected by the fitting of the Products. On return of any defective Products
R&G shall at its option either supply a replacement or refund the purchase money but shall not be liable if the Products have
been modified or used or maintained otherwise than in accordance with R&G’s or manufacturer’s instructions and good
engineering practice or if the defect arises from accident or neglect. Other than identified above and subject to R&G not limiting
its liability for causing death and personal injury, it shall not be liable for indirect or consequential loss and otherwise its liability
shall be limited to the amounts paid by the Buyer for the Products or the fitting or service concerned. These terms do not affect
the Buyer’s statutory rights.

R&G RACING RETURNS POLICY (NON-FAULTY GOODS)
Returns must be pre-authorised (if not pre-authorised the return will be rejected). Goods may only be returned direct to us if
they were purchased direct from us (customer must prove if necessary). Otherwise to be returned to original vendor. Goods
must be in re-sellable condition, in the opinion of R&G Racing. All returns are subject to a 25% restocking and handling fee (25%
of the gross value exc. P&P - at the prevailing price at time of purchase). The customer must pay any and all carriage charges.
No returns of discontinued products, unless within 14 days of purchase. This policy does not affect your statutory rights and does
not refer to faulty goods.

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com



http://www.rg-racing.com/
mailto:info@rg-racing.com

Page 9 of 12 RAD0281

MONTAGEANLEITUNG FUR RAD0281 KUHLERSCHUTZ
YAMAHA R7 2022~

ALLE KIT-TEILE SIND AUF DEN NACHFOLGENDEN SEITEN ABGEBILDET UND GEKENNZEICHNET.

DIE ABGEBILDETEN TEILE DIENEN LEDIGLICH ZUR ERKLARUNG.
UBERPRUFEN SIE ZUERST, DASS ALLE TEILE VORHANDEN SIND.
LESEN SIE DIE MONTAGEANLEITUNG KOMPLETT DURCH, BEVOR SIE ANFANGEN.

WENN SIE BEI DER MONTAGE DIESES PRODUKTES UNSICHER SIND, BITTE EINEN
UNSERER HANDLER KONTAKTIEREN ODER DAS KIT VON EINEM QUALIFIZIERTEN
ZWEIRAD-MECHANIKER MONTIEREN LASSEN.

DIE VERPACKUNG DER TEILE STELLT NICHT DIE REIHENFOLGE DER MONTAGE DAR.

HINWEIS FUR KITS MIT PLASTIKUNTERLEGSCHEIBEN AN DEN SCHRAUBEN —
THESE RUBBER WASHERS CAN BE THROWN AWAY.

EINE DIGITALE VERSION DIESER MONTAGEANLEITUNG KANN AUF
FOLGENDER SEITE HERUNTERGELADEN WERDEN:
WWW.RG-RACING.COM

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com



http://www.rg-racing.com/
mailto:info@rg-racing.com

Page 10 of 12

RAD0281

e SATZ INBUSSCHLUSSEL INKL. 4mm M4 SCHRAUBE = 8Nm
* SPITZZANGE M5 SCHRAUBE = 12Nm

e SEITENSCHNEIDER ODER SCHERE

M6 SCHRAUBE = 15Nm
M8 SCHRAUBE = 20Nm
M10 SCHRAUBE = 40Nm
M12 SCHRAUBE = 40Nm

SIE BENOTIGEN FOLGENDES WERKZEUG ALLGEM. ANZUGSDREHMOMENT

LIEFERUMFANG
ARTIKEL NR. BESCHREIBUNG MENGE
ARTIKEL 1 RAD0281 KUHLERSCHUTZ LINKE SEITE 1
ARTIKEL 2 CT130 KUHLER KABELBINDER (4er-PACKUNG) 2
ARTIKEL 3 100mm SELBSTKLEBENDER SCHAUMSTOFF 2

5 ole! otolelelele’s:

R RRRLLAXRALIK

0000 t0 %% 2% 0 % Y0 2 %00 2 %20 %%

OS5I IRLLGRRLIRRKS

BSOS SIOREIIRIIRIIIELES

B
SRS

»

Lo
{ X4
090
Yeve%%

R SRR RRIERRRS
%0023

&
3535
oo,

ot elele %%,
LRAHHAXK A A
XA XA

2505
&5
55

ot
038,
255
ot

R AR % %

&%
59
0505
otelede

ot
Py
(L

0%
éﬁgy
’0.: .

2a%0%6%%! boteledelele!
e e erate
ARt et a et e ta et eteSe o tatetotetete
B S SRR LIIRARKINS
e e e a a0 e e 262022 20 %0 e % 2 0%
B S SRR
B S SRR AR RS
R R
SRR AERELEERS
oo te et tetetste e totetoteds
Ottt lelelelete e lele 0%
' XKLL Sstesstsieteletelelete ete
- SIS
Seteteltelete% e 0%,
Deeteteleteledeterelede!
Seteseteteleteledeleleletatet
LSRRI HRARRS
Jadrssiaseteteteleletore’s
BB

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ

Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com



http://www.rg-racing.com/
mailto:info@rg-racing.com

Page 11 of 12 RAD0281

MONTAGE ABBILDUNGEN

Abbildung 5 Abbildung 6
R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com



http://www.rg-racing.com/
mailto:info@rg-racing.com

Page 12 of 12 RAD0281

MONTAGEANLEITUNG

e An beiden Seiten des Motorrades muss die vordere Tankverkleidung entfernt werden, um Zugang
zum Kihler hinten zu ermdglichen. Benutzen Sie einen 4mm Inbusschlissel, um die Schraube zu
entfernen, die in Abbildung 1 abgebildet ist.

e Die Pop-Clips, die in den Abbildungen 2 und 3 markiert sind mittig herunterdrticken.

e Das Verkleidungsteil nach vorne schieben und Iésen, um Zugang zum Kuihler hinten zu ermdglichen
wie in Abbildung 4 abgebildet.

e Schneiden Sie den selbstklebenden Schaumstoff vom Kit (Artikel 3) in 10mm Streifen und kleben
Sie diese auf der Riickseite des duBeren Rahmens des Kihlerschutz, sodass sie zwischen
Kihlerschutz und Kihler platziert sind.

e Den Kihlerschutz (Artikel 1) in Position bringen, sodass er mittig im vertieften Teil des
KlUhlergitters sitzt - sieche Abbildung 5.

¢ Nehmen Sie zwei der speziellen Kabelbinder fiir den Kihlerschutz (Artikel 2) und fadeln Sie einen
Kabelbinder durch den oberen Schlitz des Kihlerschutzes wie in Abbildung 5 abgebildet. Stellen
Sie sicher, dass der flache Kopf des Kabelbinders am Kihlerschutz anliegt und das Kabelband durch
die auBere Matrix6ffnung und in die Rickseite des Kihler-Matrix gefiihrt wird wie in Abbildung 9
abgebildet. Hinweis: Achten Sie darauf, dass der Kabelbinder die Liifter an der Riickseite des
Kihlers nicht beeintrachtigen.

¢ Nehmen Sie ein Kabelbinder-Verschlussteil und montieren Sie das vorsichtig an der Rickseite des
Kabelbands. Stellen Sie sicher, dass das Verzahnungsteil in die Verzahnung des Kabelbinders greift
und dann hochschieben, bis er den Kihler lose in Position befestigt.

e Wiederholen Sie diesen Schritt an den unteren Schlitzen, die von unterhalb des Kihlers erreicht
werden kénnen.

e Wenn Sie mit der Position des Kluhlerschutzes zufrieden sind, die Kabelbinder komplett festziehen,
sodass der Schaumstoff etwas zusammengedriickt ist wie in Abbildung 6 abgebildet. Nicht zu fest
anziehen, um Beschadigungen zu vermeiden.

¢ Wenn alles sicher ist, das Uberschiissige Kabelband hinten am Kihler mit einem Seitenscheider
oder einer Schere abschneiden.

¢ Nachdem alle Kabelbinder montiert sind, lberprifen Sie, dass der Kihlerschutz sicher in Position
befestigt ist.

Montieren Sie die Verkleidungsteile und alles Clips und Schrauben, die zuvor entfernt wurden.
Uberpriifen Sie, dass alle Komponenten sicher befestigt sind und alle Schrauben fest angezogen

sind, bevor Sie mit dem Motorrad fahren.
AUSGABE 1 - 03/11/2021 (DM)

CONSUMER NOTICE
The catalogue description and any exhibition of samples are only broad indications of the Products and R&G may make design
changes which do not diminish their performance or visual appeal and supplying them in such state shall conform to the order.
The Buyer acknowledges no representation or warranty (other than as to title) has been given or will apply to the Products other
than those in R&G's order or confirmation and the Buyer confirms it has chosen the Products as being of merchantable quality
and suitable for its particular purposes. Where R&G fits the Products or undertakes other services it shall exercise reasonable
skill and care and rectify any fault free of charge unless the workmanship has been disturbed. The Buyer is responsible for
ensuring that the warranty on the motorcycle is not affected by the fitting of the Products. On return of any defective Products
R&G shall at its option either supply a replacement or refund the purchase money but shall not be liable if the Products have
been modified or used or maintained otherwise than in accordance with R&G’s or manufacturer’s instructions and good
engineering practice or if the defect arises from accident or neglect. Other than identified above and subject to R&G not limiting
its liability for causing death and personal injury, it shall not be liable for indirect or consequential loss and otherwise its liability
shall be limited to the amounts paid by the Buyer for the Products or the fitting or service concerned. These terms do not affect
the Buyer’s statutory rights.
R&G RACING RETURNS POLICY (NON-FAULTY GOODS)

Returns must be pre-authorised (if not pre-authorised the return will be rejected). Goods may only be returned direct to us if
they were purchased direct from us (customer must prove if necessary). Otherwise to be returned to original vendor. Goods
must be in re-sellable condition, in the opinion of R&G Racing. All returns are subject to a 25% restocking and handling fee (25%
of the gross value exc. P&P - at the prevailing price at time of purchase). The customer must pay any and all carriage charges.
No returns of discontinued products, unless within 14 days of purchase. This policy does not affect your statutory rights and does
not refer to faulty goods.

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com



http://www.rg-racing.com/
mailto:info@rg-racing.com

	FITTING INSTRUCTIONS FOR RAD0281 RADIATOR GUARD
	YAMAHA R7 2022-
	CONSUMER NOTICE
	R&G RACING RETURNS POLICY (NON-FAULTY GOODS)
	NOTICE DE MONTAGE POUR RAD0281 GRILLE DE RADIATEUR
	YAMAHA R7 2022-
	CONSUMER NOTICE
	R&G RACING RETURNS POLICY (NON-FAULTY GOODS)
	MONTAGEANLEITUNG FÜR RAD0281 KÜHLERSCHUTZ
	YAMAHA R7 2022-
	CONSUMER NOTICE
	R&G RACING RETURNS POLICY (NON-FAULTY GOODS)

